Each time a fair coin is tossed it comes up H (heads) or 7" (tails) with equal
probability, independently from time to time.

Find the expected number of times the coin needs to be tossed till we first
see the pattern H H H (three successive heads). For example, in the pattern
HTHHTHTHTHHH we had to toss the coin 12 times till we first saw
the pattern H HH.

Note: Even though the probability of seeing H H H in a sequence of three
coin tosses 18 %, the mean number of tosses needed to see H H H is not 8.

Hint: The problem can be solved by considering a Markov chain with 4
states.
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